
ACCESSORIES FOR NITROGEN
GAS SPRINGS

AKCESORIA DO 
SPR YN GAZOWYCH



Ø Ø Ø Ø Ø



Ø Ø Ø Ø Ø



Ø Ø Ø Ø Ø



mm mm mm mm
o

s

 50 70 50 9 16 - CSX50, CX50, CSMX50, TOP50, 
CHT50, CSMHT50, CRAL50 - - 1

63 90 68 11 20 - CSX63, CX63, CSMX63, TOP63,
CHT63, CSMHT63, CRAL63 - - 1

75 90 68 11 20 TAK / YES
CSX75, CX75, CSMX75, TOP75, 

CHT75, CSMHT75, CRAL75 TAK / YES SMLX75 2

95 110 90 11 20 TAK / YES
CSX95, CX95, CSMX95, TOP95, 

CHT95, CSMHT95, CRAL95 SMLX95 2

120 125 100 11 20 TAK / YES
CX120, CSMX120, TOP120, 

CHT120, CSMHT120, CRAL120 NIE / NO - 2

 50 70 50 9 16 NIE / NO - SMLX50 2

63 90 68 11 20 NIE / NO - SMLX63 2

e  bazowe

A
B

D

SPR YNA GAZOWA / PODSTAWA

GAS SPRING / BASE PLATE

A
B

D

PODSTAWA / T OCZNIK
OTWORY MONT WE (4x)
BASE PLATE / DIE 
FIXING HOLES (4x)

4x ZEWN TRZNE 
4x OUTER HOLES

1x CENTER HOLE

RYS RYS

PODSTAWA / T OCZNIK
OTWORY MONT WE (4x)
BASE PLATE / DIE 
FIXING HOLES (4x)

OTWORY MONTA OWE (2x)

FIXING HOLES (2x)

SPR YNA GAZOWA / PODSTAWA 
OTWÓR MONTA OWY

GAS SPRING / BASE PLATE 
FIXING HOLE

1x CENTRALNY OTWÓR

TAK / YES

TAK / YES

TAK / YES

FIG. 1 FIG. 2

Fig.



Model
Model

M
mm

Ø K
mm

CH
mm

L
mm

T
mm

Dla modeli...
For models...

CISOT 6521816M52

50121518M05

75 M10 30 26 13 10

150 M12 40 36 16 10

... z gwintem M6 na t oku 

... with M6 threaded hole on the piston rod

... z gwintem M8 na t oku 

... with M8 threaded hole on the piston rod 

... z gwintem M10 na t oku 

... with M10 threaded hole on the piston rod 

... z gwintem M12 na t oku

... with M12 threaded hole on the piston rod 

CISOT
 / 

Stalowa nasadka do spr yn gazowych. Steel cap for nitrogen gas springs.

K

M

CISOT





Ø Ø Ø



Ø Ø Ø



Ø



Ø Ø



Ø Ø



Ø Ø Ø Ø



Ø Ø Ø Ø



Ø Ø Ø Ø



Ø Ø Ø



Ø Ø Ø



Ø Ø



Ø Ø Ø



   

AGS350~AGS2400

M6IGS150, IGS250

VV2385

AGS4200~AGS20000

IGS500~IGS10000

LGS500

VV750, VV2945



AD04

... 

!

!

1 2 3



Ø





Ø



m m



Ø





Ø



S



! !



! !



! !



*

!!



!!

CEJN



!!

CEJN



!!

CEJN



! !



m

m







= =

28

= =

40

24* 88

Ø6.5 (2x)*

36*

Ø6.5 (2x)*





E

Charging adapters

M4
M8

32 32 12÷32 16-24

M5
M8

16-19

M6
M8

19-25 25-32 25 19÷32 25 19-25 19-25 19÷38 19÷32

M10
M8

50-63 50-63 50

M12
M8

75-95 75-95

M16
M8

120 120

G1/8
M8

/8 45÷150 50÷120

M8

/
AP01, APM,

APV1, APV2

Szybkoz ka

Model Ø Ø Ø Ø Ø Ø Ø
T
Ø Ø Ø Ø Ø

HT
Ø Ø

EG
Ø Control panels

T

M4 12÷20 16

M4 32 32 25-32 24

M5 16-19

M6 19-25 32 25 19÷32 25 19-25 19-25 19÷38 19÷32

M6 25

M8  / For any other Bordignon gas spring

M10 50-63 50-63 50

M12 75-95 75-95

M16 120 120

/8 G1/8 45÷150 50÷120

Model
T

Ø Ø Ø Ø Ø Ø Ø
T
Ø Ø Ø Ø Ø

HT
Ø Ø

EG
Ø

 do    do 

   do    M8). 

    do  M8 

     

Adapters for the nitrogen gas springs charging unit 

(only for gas springs with charging hole different 

from M8). Gas springs with charging hole M8 (not 

listed in table below) must be charged with CUC01 

unit with no adapter.

Quick coupling

z . Devices for discharging the nitrogen gas springs.





Opatentowane

 FSZ
Without FSZ

 FSZ
Without FSZ

 FSZ
With FSZ

CZAS

Standard Layout

DANE TECHNICZNE

A  N2

B N2

C FSZ 

D N2

E N2

F

(minimum 6 bar / ma mum 8 bar)

G (230V AC)

H

      ( START, alarm )

K

N
UWAGA!

N2
!

A

B
C

D

F
HG

This device allows to automatically regulate, control and keep constant the nitrogen 

pressure of the gas springs connected to open system in the press-die.

This device must be connected to a nitrogen tank and to the gas springs. Thanks to an 

electric impulse it checks the pressure of the gas springs at every cycle when the die 

is open, and adjusts the gas pressure in order to keep it constant. 

This electronic device allows to monitor the measured pressure at any moment, to set 

the pressure parameters, and to check the alarm signals generated because of 

possible anomalies.

Model
Model

FSZ

Digital, electronic device for controlling and automatically adjusting the pressure of gas springs systems

AATTTTEENNTTIIIIOONN!!!
USE NITROGEN N2 ONLY!

TTEECCHHNNIICCAACACACACCALL NNOOTTEESS

AA Nitrogen N2 tank

BB N2 inlet

CC FSZ Force Stabilizer

DD N2 outlet to gas springs system

EE N2 venting outlet

FF Compressed air inlet

(minimum 6 bar / maximum 8 bar) 

GG Power (230V AC)

HH Contacts to press system
     (START signal, alarms)

KK Hoses: type and length
     according to the application

NN Nitrogen gas springs system

FSZ



! !







Ø Ø



APV1
PANELE KONTROLNE DO SYSTEMÓW OV
APV1 CONROL PANELS FOR OV SYSTEM.

APV1

APV1PAN

Add �LOCK� after the control panel code to receive it with lockable discharging valve for Lockout-Tagout applications. Order padlock (code: PADLOCK) separately (also 
usable with BRADY part no. 850821 padlock).   Example: �APV1PANLOCK� = control panel APV1PAN with lockable discharging valve.

This panel allows to charge and discharge 
a manifold plate ("OV system" or other) using 
a direct-coupling to the plate (no need for hoses)

-

-

2! J N

YMIARY

 
V1  

 
V1

2x holes for 

A    Charging valve use only with CUC01 or COMPL 
       or BOOSTER 

Discharging valve

Pressure gauge

D    No 1 connection port G1/8 (front) 

No 3 connection port G1/8 (sides)   

tylnym  
Control panel for OV system with rear direct-connection to plate.

Panel  
Control panel APV1 with APRO1AN pressure switch (50-300 bar normally open)

- The connection ports are plugged
- No 2 fixing holes for M8 high resistance 

(12.9) hex-socket screws 

! ATTENTION! USE NITROGEN N2 ONLY 



OR

4 0.1

/ MOUNTING 

BORDIGNON 

� 1 szt OR NBR 90 Shore A model 3030-109 (7.59 x 2.62 mm) jest dostarczany razem z panelem kontrolnym /

)



D

EE

B

A

140

C

17.5 17.5

35

66

OR

E

This panel allows to charge and discharge 
a manifold plate ("OV system" or other) using 
a direct-coupling to the plate (no need for hoses)

TECHNICAL NOTES

n  

      

 

 

 

Charging valve use only with CUC01 or COMPL 
       or BOOSTER

Discharging valve

Pressure gauge

No 1 connection port G1/8 (front) 

No 3 connection port G1/8 (sides)   

-  The connection ports are plugged
- No 4 fixing holes for M8 high resistance (12.9)

hex-socket screws 

-

-

!

4 otwory   

E E
AP 2 .

4

4x 
 

 
 

V2

dolnym  
Control panel for OV system with bottom direct-connection to plate.

2
Control panel APV2 with APRO1AN pressure switch (50-300 bar normally open)

YMIARY

ATTENTION SE NITROGEN  
ONLY



 /

P

OR
)

Ø4±0.1

 /

S

1 szt OR NBR 90 Shore A model 3030-109 (7.59 x 2.62 mm) jest dostarczany razem z panelem kontrolnym / 1 pc. OR NBR 90 Shore A model 3030-109 (7.59 x 2.62 mm) is supplied with the control panel



2x 

2x 



!!

CEJN





Model
Model

AK2

Model
Model

AH1000

AH4000

AH10000

Model
Model

AHD1000

AHD10000

Model
Model

Model
Model

AHDTFX

 ( )
 

AHD 000

AHD1000

AHD 000

AHD1 000



NOTATKI

5


